


Q.No.2 Show thatthe anglesof an equilateraltriangle are 60° each. A

Solution: In AABC, AB=AC = +C = /B («sopp.toequalsides are equal)......(Q)

AB=BC = +C=+A («4sopp.toequalsides areequal).....(ii)

From (i)and(ii), tA=¢B=2+4C ............(ii0) B C
We know that, 2A+ 2B+ £C = 180° (Angles sum prop.of a triangle)

= 2A+ 24+ 24 =180° [ By (iii) ]

= 324 =180°

= <A = 60°

ZA = 4B = 2C = 60° Proved.

Q.No.6(c) Inthe figure,AB || CD and CA= CE. If LACE = 74° and «£BAE = 15°, find the vaiuesof x and y.

Solution: In AACE, CA=CE

: B
2CAE = LCEA (4sopp.toequalsidesare equal).......(Q) “I
Now, 74° + LCAE + £CEA = 180° (Angles sum prop.of a triangle)
= 74° + LCAE + +CAE = 180° [ By (i) | [ s - D
= 2CAE = 53°= £CEA
Now, <CEA+x = 180° (linear pair)
= 53°+x = 180°
= x = 127°

AB || CD and AC is a transversal
2CAB + £ACD = 180°
= 2CAE + LEAB + £ACE + LECD = 180°
= 53°+15°+74° +y =180°
= y = 38°

Thus, x= 127° and y =38° Ans.




Q.No.10 Inthe adjoining figure, AD, BE and CF are altitudesof A ABC.

A
If AD = BE = CF, prove that ABC is an equilateraltriangle. A
Solution: In A ABE and A ACF, y
FL \
BE = CF (Given) /
LAEB = £AFC (= 90°) é 2
LBAE = .CAF  (Common) B D

AABD = A ACD (AAS congruencerule)
AB = AC (C.P.CT.) ..o ooeeveeeeeen (D)
Similarly, ABCF =ABDA (AAS congruencerule)
BC = AB (C.P.C.T.) o cee e ve e (i)
From (i)and(ii), AB =BC=CA
Hence, ABC s anequilateraltriangle. Proved.
Q.No.14(a) Inthe figure,CDE is an equilateraltriangle formed on a side CD of a square ABCD.
Showthat A ADE = A BCE and hence,AEB is an isosceles triangle.

Solution : LADE = £ADC + 4£CDE

2ADE =90°+60° =150° (4£ADC=90°and +CDE= 60°)

Similarly, +BCE =150° 3
In A ADE and A BCE,
AD = BC (ABCDis a square) .
¢ADE = /BCE (= 150°)
DE = CE (CDE is an equilateraltriangle)
~ AADE = A BCE (SAS congruencerule)
AE = BE (C.P.C.T.)

Hence, AEBisanisoscelestriangle. Proved.
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